£ T A

T KELLICEI HERRAE(RIER O FRR)

BRBERDES 2ERhD R

B Afr & & 158B1124

& il £ EAE-1

il = ih KiEmE/IIIFERAE

B ' O B DRLBERERLIARBAMELRtE 22—

Eq
)

-

’./

»Q.j .

\%V

e

gy

L A ST W 5 =
¢ I \, i
~?; S R
e %ﬁjﬁr SN | A
,,,_:-\. &5 v: S M

i

=T

:ﬁ = ‘ r ==
250 5005;}
N L

0
e

i

=
h

35 X(S=1:25,000)

3
H
i




BR3—1 BEOBZTAOHL LM ELVEEOSThOHDLOFER
2 fE A oD B BES |

AERMOREREHAE

75851121 T R pa-1

| B
&l
iy

_ | szsE | RIS
[ it A 7Rt

" !

— ]
/
]

——

50

TRBTAR

BEODEETNOHILHDKE
3 ZELLVBEEOEThOHS DR

T EZEDOBHNCLDHH100kN/mEFBZ HEEH
1 TtRE0OHBEEImERZLEHE

i3
u
P



RIER b AR X EGEH

BR3—2 BEYICERYTDEEESNAEHRICHEYT DBIE/1) i _ i} B RS
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) SERMO TinlCHEET S Z(ER A
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(m) (m) (kN/ i) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEFBZD ~ -
s 1.00 | 0.00 ~ 4.31 53.81 | #nS | 000 ~ 431 2.01 10.156 st 1.00 | 6.00 ~ 5.10 53.81 | =hs | 6.00 ~ 5.10| 2.01 10.15
2 100kN/m%E#8z5 | 1.00 | 000 ~ 022 10326 |3m&Ei8Bz% -~ -] 100kN/ %825 | 1.00 | 10563 ~ 11.12| 10326 |3m%EiBz% ~
s 1.00 | 0.22 ~ 801 100.00 | #=nlst | 0.00 ~ 801 | 220 11.12 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1112|220 11.12
3 100kN/mM%#BZ % ~ -|3mEBZD ~ -] 100kN/m%#8% % ~ -|3mEFBZD ~
s 1.00 | 000 ~ 7.73 99.23 | =S | 000 ~ 7.73| 2.59 12.07 st 1.00 | 6.00 ~ 1112 99.23 | =n4 | 5,00 ~ 11.12| 2.39 12.07
4 100kN/mM##BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 5.14 64.04 | FnLSY | 000 ~ 514|292 14.77 st 1.00 | 6.00 ~ 1022 64.04 | TSt | 5.00 ~ 1022] 2.92 14.77
5 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 5.84 73.02 | FnLSY | 000 ~ 0.00| 1.67 7.91 st 1.00 | 6.00 ~ 722 73.02 | TNLSY | 6.00 ~ 7.22| 1.567 7.91
P 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 721 91.73 | =S | 000 ~ 7.21| 1.80 912 st 1.00 | 5.00 ~ 9.20 91.73 | #h4 | 5.00 ~ 9.20| 1.80 912
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEFBZD ~
s 1.00 | 0.00 ~ 477 59.40 | =hst | 0.00 ~ 000 1.69 8.66 st 1.00 | 6.00 ~ 5.00 59.40 | =n4 | 5.00 ~ 5.00| 1.69 8.66
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
zhst ~ Fhest ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhLst ~ Fhst ~ FhLst ~ st ~




